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yeeflufweo / STATISTICS F-

(50 wHmD < midle eufl / Tamil & English Versions)

Criid : 3 wewfl | [ Qorgg wHlGuemser : 150
Time Allowed : 3 Hours ] [Maximum Marks : 150
Sflejenr : (1) Smasg alamsseEsn sflwurs udeurdl o arersm erevLSamen

sfluriégis Qararereyb. oFaludleler Gampudmuien omns
samsrafillurerfiiib o L anqurss Csflelssain.

2 fewb ooz spuy awullamer LLHGWL g euFDHEL
vweatu(pss Cauamr@b. ULBIGE aumreugn@ Guerde
HweL(h&s5e L.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Black or Blue ink to write and pencil to draw diagrams.

L@ - 1/PART -1
@I : eTeveon clamEs@EnsEn el weflsseb.
Note : Answer all the questions.
sflwrer allenLemws CorbblsHisg 6r(pgs : 50x1=50

Choose the correct answer :

1. &puy Blspsse| (Classical probability) eramg)
(<) yeraflud fapssa; (@) M Ph®sw Hepsse
@) erwQufisse flapssey (F) Copamplu ergieysldame
Classical probability is also known as :
(a) Statistical probability (b) A Priori probability
(c) Empirical probability (d) None of the above

[ HlapLliys / Turn over
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2. P(O=015 P(Y)=025 PXOY)=010 eraflé PXUY) e 0Ly :
(=) 0.10 (<) 0.20 @) 0.30 g

P(X)=0.15, P(Y) =025, P(XNY)=0.10 then P(XVY) is :

(a) 0.10 (b) 0.20 (©) 0.30 (d) 0.40

3. P(A)=04, P(B)=05 wpm P(ANB)=0.2 crasflev P(B/A) eremig) :

(28]

1 1 4
(=) 5 (=) 3 @ 3 ()

If P(A)=0.4, P(B)=05 and P(ANB)=02 then P(B/A) is :

Ut | =
o
S
| ra

1 1
T ® 3 ©

4 epary UseLsar BaGs eisliL@dlaper Sieunlen s Hge 3 Hel LiugDETET
bapssa, :

1 2
(=) O (<) 776 @ 76 (%) g

Three dice are thrown simultaneously. The probability that sum being 3 is :

1 2 3
(@ O ®) 16 kel e @ 5

5. pL&s @uars Hepssudean Blapsse, :
(<) -1 (<) 0 @ 1 (w) 2
The probability of an impossible event is :

(@ -1 o © 1 @ 2
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epam UsenLgar efFlumib Curg jaumdlar abmsa 17 e LughsTar

flowssal ;

5 17 3
(8} == () 3¢ @ o

When three dice are thrown the probability of sum being 17 is :

@ 756 ®) 53 ©) 718

(F) 515

@) 335

@@ LsmLeaw aisd Curg 2 Sl _saTned B(Hés Hepsse, ;

S| ==

1 2
(@) 3 (<) 3 @)

The probability of not getting 2, when a dice is thrown is :

1 2 1
@ 3 - © =
ZP(Xi) GTeuTLIg)
i=1
(<) 0 () 1 @ -1
E;P(Xi) is equal to :
(@ 0 (b) 1 o G
E (2x +3) ereniLigy :
(=1) E (2x) (<2) 2E () +3 @) EQ
B2y -F5) 15
(a) E (Zx) (b) 2E (x})+3 (c) E@3)

(FF)

oy |

(FF) «

(F) 2x+3

(d) 2x+3
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10. gweumiliL ol x - 61 UFeudulg - erafe Sigen L fss
) 5 9 &

11.

12.

13.

14.

a0 i 1
() 55 (=b) 33 @ o
1
Variance of the random variable x is 1—6‘ ; its standard deviation is :
1 £ 1
@ 56 (b) 35 © &

Var (5x+2) eresigy :

(1) 25 Var (x) (<) 5 Var (x) (@) 2 Var (x)
Var (5x+2) is :
(a) 25 Var (x) (b) 5 Var (x) (c) 2 Var (x)

F(x) @5 Lreud &y erafled F(+o) eramuiglen i :

(&)1 (=) =1 @ o
If F(x) is a distribution function, then F(+a) is equal to :
(@ 1 (b) -1 © O

wrdledudlen LFeuLLy.

(1) 2 (<=p) 3 @) 0
Variance of a constant is :
(a) 2 (b) 3 () O

Var (4x+7) eresiuigl :

(<21) 16 Var (x) (<) 4 Var 49 @) 49
Var (4x+7) is :.
(@) 16 Var (x) (b) .. 4 Var 49 (c) 49

()

(d)

(FF)

(d)

(d)

(FF)

(d)

(FF)

(d)

i
4

W | =

25

25

16

16
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15, F@GOIUYL Lreueilen Liwerum g h@&fAwg) :
(<) <iflu Bapsfsar
(<=4) S@bu Smbu peor Qunib @@ Hepsdasdr
@) ey Blapifser
() BL&s Quers Hlapsflaer
Binomial distribution applies to :
(a) rare events
(b) repeated alternatives

(c) three events

(d) impossible events

16. &pmedl 10 - b Ywpflseflen cramanilsens 30 - 1b o e W FEHOULY Ureuedle
Careeilsasrer Hlapssa, :
(=1) 0.25 (<) 0.333 @) 0.666 (™) 0.9

The mean of a binomial distribution is 10 and the number of trials is 30 then probability
of failure of an event is :

() 0.25 (b) 0.333 (c) 0.666 d) 0.9

17.  m@mOUYL ureuame wppewwrs fiamndss Game Qsfipsred Curgth :

(<) p LG () q WG @) pwdpmibg  (7) pwHmbn
The binomial distribution is completely determined if it is known :
(@) ponly (b) qonly (c) pandgq (d) pandn

18. umlsTen uUFeuedle :

(1) &gpmefl > wrmur@ (<) syrefl =wrmyur@
(@) syrafl < wrmur® () &gmefl 2 wIMUTE
For a Poisson distribution :

(a) mean > variance (b) mean = variance
(c) mean < variance (d) mean # variance

[ $pliys / Turn over
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19. m; LHMLD m, GTETLIET X PMID Y GTEID LITLISFTET OTHSETET LIewTLIeTenaUSET

erefled x+y erevmm UMLETem WrHuflen LIGRTLIGTENGUUITETS]

(1) mymy () m;+my (@) mq-m, (r) my/m,

If the Poisson variables x and y have parameters m; and m, then x+y is a Poisson
variable with parameter. :

(@) mym, (b) m;+m, () m;—m, (d) my/m,

20. umisten uyeuedean erdlfunisslu®b srrefl wduurarg 1 erafle P(x <1) -6

ToY: AT
(1) e (<) 1-2¢"1

18 & Pava
@y = 2] () Qe Fgib @
If the expectation of a Poisson variable mean is 1 then P(x < 1) is :
(@ e’! (b) 1-2e-1!

5

© 1- 21 (d) none of these

21. Sl Quablael ugeume @eieurm @GOG emb :

(=) N (O 0) (<) N (L 1) @) N0 (F) N (0,1)
The standard normal distribution is represented by :
(@ N(@©0) (b) N@1) (© N(@0 (d N@O1I)

22. Quedleel ureeen srrafl 60 erafler @sem a6 TG

(1) 60 (<) 40 @) 50 () 30
The mean of a Normal distribution is 60, its mode will be :

@) 60 (b) 40 (¢) 50 d) 30
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Al 9
23, [E 4 %] eraTugl FEOILY Uraume GHsEn Curg Gger HL eflow&sLd

24,

25.

26.

(=) 2 (<3) 9 @) 3 (F) 2

9
2 1
[5 + g] refers the binomial distribution and its standard deviation is :

@ 2 (b) 9 (© 3 d 2

wrHfl Sereneuuden LaTLSarTaiL X oieg S 5 Qe S@ssiu@b .

(<) Ppyows (sTES (<) yereflufwied Sierane
(@) Curerid () sgrafl

A measure characterizing a sample such as X or S is called :
(a) Population (b) Statistic
(¢) Universe (d) Mean

§ire] L LG ereLig) :

(<) LYsEL UGS (<) THEL LGS

@) Hawssey (F) Cersener Latafludwied oy
Critical region is :

(@) Rejection Area (b) Acceptance Area

(c) Probability (d) Test Statistic Value

crHCsmeT eTaTLms @eueiTy eUmSEILHSSOTD :

(=) eraflwsns (<) SO@EUWITS

&) Qe eriony (m) CupEhss dAoaSSID
A hypothesis may be classified as :

(a) Simple (b) Composite

(c) Null (d) All the above

[ Splys / Turn over
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27.

28.

29.

8

H,: p=100 &@ wrprs H,; : p£100 eremp Gergenen :
(1) @M Wwoar -aua (paner Cergamen

(<) R pevar -@QL. wenear GCergeanen

@) @ penen Cargener

() Cuwpamdlu ggiidvame

Testing Hy : p=100 vs H; : p#100 lead to :
(@) One sided right tailed test

(b) One sided left tailed test

() Two tailed test

(d) None of the above

Quprsmpms Cariuri e vwaTu@sgieug eruGurg erefle :

(1) n>30 (<) n<30 (@) n <100 (7)) n <1000
Large Sample theory is applicable when :
(@ n>30 (b) n<30 (c) n<100 (d) n <1000

ds sw agHuresdparen (P, —P,) S Lnlepwireng), er(Garet Hy: Py =P,
ereu 2 arer Gumg)

\];;a g Bl \/;; b oty
e20) M) (<) D
i 1.0 P19 , P29
. ’ +

Standard error of the difference of proportions (P; —P,) in two classes under the
hypothesis Hy : P; =P, with usual notation is :

i (e | 1 sk B 1
o Pira) o (5 7)




<

30.

31.

32.

yerefluQwer ojeremeu Z= Rurigl LweTu@SSLLBL Q@ e
U JL i
np Oz
er(hCamarreng) :.
(1) Hp:pqtup=0 (<24) Hp: py—pp=0
@) Hy: p=pg (g wrblad) (F) Cupamdwug ggidloene
e X5 . !
Statistic Z = —————— is used to test the null hypothesis :
\np  mp
(a) Hy:pg+tpy=0 (b) Hy:upj=p,=0

(c) Hj: p=pg (a constant) (d) none Qf the above

() gyrafluden wrmLUTL_TEg) :

o? o 20
(@) — () o @ - (¥r)

The variance of sample mean is :

2 T 2
@ = o) "5 B, (@

n
Gu@LaT ‘'~ ureuedlen (perGanTly.
(1) &miev Glwirenes (<) erlerev
(@) RA. olbagit () efléadwid S. srhlen_
Student’s ‘t’ distribution was pioneered by :

(a) Karl Pearson (b) Laplace

() R.A. Fisher (d) William S. Gosset

3378
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a3,

34.

35.

36.

10

@w Ho sapsaian srreflsepsionCu 2 ara Ceaumuri_igharer oy
Gergeander GUIg ueTLHD LTeESa 6 T HTETHENS

(1) n;+n, (<=1) ny+n,—1 (@) ny+ny,—2 () nytny,+2

While testing the significance of the difference between two sample means in case of
small samples, the degree of freedom is :

9 wHuysefen srrefaEps@ Qoularea aNsHwrsd 15.0 wHMD
g Lelassd 5.0 erafld ¢ - Qargenan jeTaes LHUIL :

() 27 (=) 9 @ 3 (™) wRHud

The mean difference between 9 paired observations is 15.0 and the standard deviation
of differences is 5.0 then value of Statistic £ is

(a) 27 b) 9 © 3 (d) Zero

saEdH Qeiwnul e x* -ar wHly

(=) eru@umpgid Wlens creim (=) er@UTIPSID GeD eTewT
@) Wens 2eegl GeD 6TanT () @aupiled ergiaydlavenc

The calculated value of xz is
(a) always positive (b) always negative

(c) can be either positive or negative (d) none of these

1> Cersmananis sSTHEgSSaIT |

(=) RA. So9agt (<) &Tev

(@) s&ried Gwirgen () Gevlieomav
The #? test was derived by :

(a) R.A. Fisher (b) Gauss (c) Karl Pearson (d) Laplace
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37.

38.

39.
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2
S : y . . LITE
F = _%w erenrm Cemgenar Letaflufliicd <araneu Gsmeans Cergamen Glawiuil
Sy
LwerL(H&Emg)
g g
(<1) HO s By o (<4) Hy : =
2 2
@) Hp:oy=0, (m) Hp:o Oy
2
The test statistic F = _;_ is used for testing :
52
9 8
(@) Hp:pi=py (b) Hp:0;=0,
3.1

Qran® wppows GsrEd wrmurl ger swsgeib @sea o Cergamerns

Qewwu@n :

(<=1) F-Cargenar («=1) t- CGargemer
@) x> - Gerseen (F) Z - Gsrgenen
Equality of two population variances can be tested by :

(a) F-Test (b) t-Test

() #? - Test (d) Z-Test

LIYULL UGUUTWe] wpensamer allflejliu@sdweur :

(1) S.D. umiigmen (<=1) srie Gwiene
(@) RA. Sl9eaqr (F) WS. srhsl
Analysis of variance technique was developed by :

(a) S.D. Poisson (b) Karl - Pearson
{c) R.A. Fisher (d) W.JS. Gosset

[ $iLiys / Tarn over
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40.

417.

42.

43.

12

N searLPlBg WU G wOHMID t BLSSH PDEEHD CeraT g auldl LrG
Urliged GenpssTer aueFunn LITENSSETTETene
() N-1 (=) t-1 (@) N-t (FF) Nt

In the case of one-way classification with N observations and t treatments, the error
degrees of freedom is :

(a) N-1 (b) t-1 € N-t d) Nt

TSS, SSR wmmitb SSC wpenmGui 90, 35, 25 Cereawr. @meuldl LMGUTL g6 SSE
24,6
(1) 50 (=) 40 (@) 30 () 20

With 90, 35, 25 as TSS, SSR and SSC respectively in case of two way classification, SSE
is :

() 50 (b) 40 (€©) 30 d 20

sresbsr_ralflengulier o crer Gfleysaflen crameantlsans

(<) Gran® (<) epem)

@) preng (m) 8BS

A time series consists of :

(a) Two components (b) Three components
(c) Four components (d) Five components

Q(PEISHD WTHUTHEET eTaTLme !

(1) pemDUITETEnNE (<) Fpev wrmLIT(hHGer

(@) p@DWDHHMme () CupaEmdueundled ergieyd Bloveme
Irregular variations are : :

(a) Regular (b) Cyclic

(¢) Episodic (d) None of the above



13 3378

4y, seflgn eri Qurmeflwe e o drarsdwig, :

45,

46.

(=) Gummeflwe wHmw saign

(=) Qur@afiwue wHmb Yerefudwid

@) Qummetlwe, Lerafludwe wpmib sewflg b
() Cupsmdlueupdler ergiayb @eaame
Econometric methods involve :

(@) Economics and Mathematics

(b) Economics and Statistics

(c) Economics, Statistics and Mathematics
(d) None of the above

‘2 peysatli ieTme’ ETETLG QUDESOTE @Sl 6 QgrenL_LenL_weme :

(=) uewTyserT (<) erawram sryenflser

(@) wrhser (FF)  erewr&Er

Measures of association usually deals with :

(a) Attributes (b) Quantitative factors

(c) Variables (d) Numbers

A Lopmid B ei e @) LTS @56@ (AB) > (—A)N—(Bl eTeniled <ieuadl(m LictTL|s(ernLd:

(21) sTTUDDEE
(<) CrfleoL g Qgriry 2 e wenau
@) erdiflen g Qariiry 2 en_wemeu

() @m v yeild@hd wur Quers
If for two attributes A and B, (AB) > (A—)N@ the attributes are :

(a) Independent
(b) Positively associated
(c) Negatively associated

(d) No conclusion

[ $pliys / Turn over
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47.

48.

49.

14

N =500, (A)=300, (B)=250 wpmitd (AB)=40 erérn efleuymhiser :

(<) QUTHSHLPENLUIET G060 (<2p) QUTEHSSPEnLLIGT

(@) Blenmeurerg () CupamPluaibiier agelb Gome
If N=500, (A)=300, (B)=250 and (AB)=40 the data are :

(a) Inconsistent (b) Consistent

(c) Sufficient (d) None of the above

flégwwpp Hlenuie EDGEETL. THS ~HaTENEUMUIS Qasram® STLTETD
Gup@arerer LweaUBsgIcuElaman ?

(=) BeAmefar BLGAL@ ped ellan. s mige

(=) BuQumeder BLALIH apald cllanL samise

(@) BuQumeiean B&Am ppob ellent Samise

(M) erdiurfsslu@b eflamw BLELHOD AEEGSD.

Which of the following criteria does not apply to decision making under uncertainity ?
(a) Maximin return

(b) Maximax return

(c) Minimax return

(d) Maximize expected return

BUQuE 2iaflsss Gopars QEmsmsuia Qewpur e Corey Gauicug
Qeuaiatanaiaid Aamen(®H

(=) B&fmeden SLGEL@GH 2iaTamal

(<) BUGumeler 85 eTenay

@) BuGumeiar BLGU®H 2ieTenal

() Cupsmdlwaibbld Tgeb Geaoeame

The criterion which selects the action for which maximum Pay-off is lowest is known
as :

(a) Max - min criterion
(b) Min - max criterion
(c) Max - max criterion
(d) None of the above
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50. oy auiqet Siorasdoe Spssareaunhied erana Qewt (D sHeHe0anen ?
(=) e #&1T sayiuaaf ok Srorad Gopblsrerer Geueir(Hid.
(<21) @ el L san Ggfeluug Blésuwnp Howeamu shug.
@) e@er Qsriiurar Sioramsmer Gsiea) alas =g Qeunil &

oflsorar Hlenssmal SIHLD.
) @meuir apwenn erdiuris@h efleni smmsed BLEL@G LIHLILTESGSD.
Which of the following does not apply to a decision tree ?
(@) A square node is a point at which a decision must be made.
(b) A circular node represents an encounter with uncertainity.
(c) Onechooses asequence of decisions which have the greatest probability of success.
(d) One attempts to maximize expected return.
UGS - 11/ PART - 11

&AL : gCs@ib LSleahgl laTTssErssE eenwieflE&Hea|Lb. 15x2=30

Note : Answer any fifteen questions.

51. Hupseen Hlepssmae UTILINISS.
Define Conditional Probability.

52. 52 & (ser Qaran @ EL0Es 10 Qmbsl, 2 SO arhssuLBEETDaT
srafléd sieneu g TR, @ Frenl s QHES Henssmals STas.
From a pack of 52 cards, 2 cards are drawn at random. Find the probability that one is
king and the other is queen.

53. Hspsse6| I_T5HE sTiML QI@TUDES.

Define probability density function.

[ Sigiys / Turn over
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5. Xerenp GgrLf sweimily wrhssrar Habssey SILtGHFeTiy f(x) =423,
0<x<1grafled X Qe erdliLimigge wéliamus sremrs,

Let X be a continuous random variable with p.d.f given by f(x) =4x3,0 < x < 1. Find the
expected value of X.

55. Clgmiir sweuriitiy wirlssrar Aniinuodys eriewu Gr@g,jas.

State the characteristic function for the continuous random variable,

56. &rsifl 3 wHMIL WLIHUTE 2 erens Qsmamm FHOILUL UTeUNed: STeurs.

Find the binomial distribution whose mean is 3 and variance 2.

57. umwerer ugeueled 3P(x=2)=P(x=4) crafléh, LTLIeTaMeU ‘m’ -G wdlliens
ST ETS.

In a Poisson distribution 3P(x=2)=P(x=4), find the parameter ‘m".

58. Z=1.96 &5 QL ULDD Sewubd LFLieus STeEms.
Find the area to the left side of Z=1.96.

59. wrdfl Lreume cuerLmn Qslis.

Define sampling distribution.

60. Spuysrea wLb unfl Belli idleug wrg ?
What do you mean by level of significance ?

61. Q@eildls s elHursiisafien wrmUT’ oL erpg)s.

Write the variance of difference between two proportions.

62. avGLemiigen ‘- Cergomar Cam_urBamer eTps|s.

State the assumption of students ‘t’ test.



65;

64.

65.

66.

67.

68.

69.

70.

17 3378

MG GUTEGSL! LIFeUeme) GUemTuim).

Define Chi square distribution.

AITUDHD LTESSE crany UgSms eSleaéE@s.

Explain the term ‘Degrees of freedom.”

sresQsrir euflens erampred erener ?

What is a time series ?

wpensafiiionu erelHb CeucuGeaim (pemEenerT afleurl.

Give the names of different methods of forecasting.

aipssorar  GHUGsalie ECp Qar@ssuul(harer &9 6w 1y 1 & 6rfl 6ot
QUITHSSPELEDLOEDW! DTS,

N =1000, (A)=600, (B)=>500, (AB)=>50.

Test the consistency of the following data with the symbols having their usual meaning.

N =1000, (A)= 600, (B)=>500, (AB)=>50.

wellen Qerims Qspemel Fmms.

Give Yule's Co-efficient of association.

LereRufwid Siorens Carlur® erarugler Qummaer efleréEs.

Explain the meaning of ‘statistical decision theory’.

2 GHS SETEHG GTEIDTE GTGUTE0T?

What do you mean by criterion of optimism ?

[ Sl / Turn over
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UGS - 111/ PART - III

GOl : gGsenb oyn lemrésEréeE edlewelssa. : 6x5=30

Note : Answer any six questions.

7. @@® Caomessts A wopb B aagb @onai CprwssCsiame
Cupblsrardleamert. A eramueui CsMbOsHESLILGSHSTET Blapssey 13 B
eraueum Caiblgdésliupegnarea Hapssey % eretled

() Qoeumb CarbosHssLHUSHSTET
(i) emeum LLEWL CsMHesHEELLMISHSTE
(i) ereumb CapOEHEsLLLTDD @@BLUSHETa HEbsse) wrg ?

Two persons A and B appeared for an interview for a job. The probability of selection

of A is 13 and that of B is % . Find the probability that :
(i)  both of them will be selected.

(ii) only one of them will be selected.

(iii) none of them will be selected.

72. @@ Osraseaflle 7 Ceudrenar wpmib 3 Heuliy Hpliupgser o drarar
Qoupgisd @@muGs sweardly wopW¥ed aO&s0UGH e Dar.
QeueTeneTLbSISET aUBEUSHSTE THTUTTSESMOE &S,

An urn contains 7 white and 3 red balls. Two balls are drawn together at random
from the urn. Find the expected number of white balls drawn.

73. Qeopwpp @ pravwhser @Cr swwsHe s LuGdearmer, erefle
GDDHSE W0 SOSET Sl LILFnHsTar HEDSSMmeLds &Tes.

Eight coins are tossed simultaneously. Find the probability of getting at least six heads.
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19

= w=50 HMID o=8 B& GaTar Gue Hlenaiiuyeuedlad X - a iy 42 wHoId

64 - 5@ Qa1 SeeipHETar HlEDss6 STEHTS.

Given a normal distribution with p =50 and o=38, find the probability that X assumes
a value between 42 and 64.

eNflss0mis@EsssTar SDUL| STeT Gargeareml eleul.

Write the test procedure for testing the test of significance for proportion.

wréfluden S ellew&sn 6 erer Qaraw@erer 20 cramraniisens 2 Ll ¢

sweaumiliy brédfl em Wows QsrE@Hule(hHgl TB&SLULBEDS. HBS
appemws QsTESude AL elessbd 9 eramumass Cergamen Qewis.

A random sample of size 20 from a population gives the sample standard deviation
of 6. Test the hypothesis that the population standard deviation is 9.

e srTaf apepuds CuTsE WAL SMETS STERNS.

@U(MHL_LD 1991 | 1992 | 1993 | 1994 | 1995 | 1996
Qﬂ@u@@‘r(lOOO @urruﬁlé)) 60 75 81 't 11071106 | 117

Calculate the trend values by the method of semi-averages.

Year 1991 [ 1992 | 1993 | 1994 | 1995 | 1996
Sales Rs in (1000) [ 60 75 81 | 110 | 106 | 117

3378
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78.

79.

20

&Gy Qsr@ésuulerer eleursdedr @Mbg SHMS WOHMD ESET &ersarf
smeow BinkiseEpsdaLubllorar o palle SeTeneil 24FTilis.

sme HDsG SaEsE@EhmL aasmer GQUDD SmEW HiDs SETsEhemL L
shengwim = 50.

Sme HDLHD SETSEH@LLI WaasmarL QuDD Smen Hiné sasEhenL
ShFWIT = 79.

smen Hné sasEpamLi aasamart Qubp smeo HIDHD Ses(enemL
Shenswit = 89.

smeob HpwHp saTsEr@LWL bsasmart GuHD SmHew BHpHD
SEMHEHENL_LI FHenSUWIT = 782.

Investigate the association between darkness of eye colour in father and son from the
following data :

Fathers “with dark eyes and sons” with dark eyes = 50.
Fathers “with dark eyes and sons” with no dark eyes = 79.
Fathers ‘with no dark eyes and sons’ with dark eyes = 89.
Neither son nor father having dark eyes = 782.

epaTm QewHUTEIG BLeuigsamas@End (A) eparm Gblame BlaaliurhaEpo
(E) (ioveg Hspsflaer) wpmib seupdler Hlenssesesd (P) wponGw
<lafl g e S U_L_euem et udl ev Qer@éslul Herarg. AnbHs6sTm
BLGUIGEMSHEWISE HTGUTS.

Blapaslser E; | E | Es
Bspssa; — |02[05(0.3

Qewpumrig |
B 200 1 o [
A, O
K ‘2 ENiE

The pay-off table for three courses of Action (A) with three states of nature
(E) (or events) with their respective probabilities (P) is given. Find the best course of
action.

Events E, | E | Es
Probability —0.210.5|0.3
Acts |
A, 2 11]|-1
A, 3 0
A, 41211




21 3378
U@&S - IV / PART - IV

BBy : aGsaib BrenE alamssErss elawalssa,lb. 4x10=40

Note : Answer any four questions.

30. @m Hneaagde @m smamwbl LGS A, B wombd C eeamm aoeui
Curliyu@dempent. Seurser 21LFeNEE CoTB0sHEsLLGusHaTar CsiTay
eldlzb wernCG 4:2: 3 L. SLLgsEE A CahOsHSsILL Lo 2
pneuasams gaprus wapuia pLsHs Qeoaugpsrar fspsse 0.3. 2Cs
Cuméd B ereimuau&@ 0.5 wpmid C eramicihé@E 0.8 2,@Gb. <ibHneuasden
plreursggled paprus wepawl blwsliu@sgeusharar Hapssea) wrg ?
Three persons A, B and C are being considered for the appointment as the chairman
for a company whose chance of being selected for the post are in the proportion
4 :2: 3 respectively. The probability that A, if selected will introduce democratization
in the company structure is 0.3 the corresponding probabilities for B and C doing the

same are respectively 0.5 and 0.8. What is the probability that democratization would
be introduced in the company ?

31. & CryCursser swrflg@w CGurg 100 CruCurssale smrewriiun L
Geopur@psaier aanamisms alaurn &0 Usr@ssuul Hdas. QsnE
umigres Ureuemell QUThSSis.

G®DUTHSET 0111234
&eDUT(H&EHETeT

Crig Curgsaflar  |79(18{2 |10
CTERTENN SN S

Cuaid erglurrdsliuBib Blaspteamsmard Erems.

100 car radios are inspected as they come off the production line and number of defects
per set is recorded below :

No. of defects 0 1 2 3 4
No. of sets 79 18 2 1 0

Fit a Poisson distribution and find expected frequencies.

[ Hllys / Turn over
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M.A. Qur@erTgrrd Ug&sGD 60 wrameafsaiear srrefl e wrb 63.60
SRIGoBRSET WO M.Com. Lg&EW 50 wramalfgeflar srrefl 2 wrb 69.51 -
S GO RIEET. QUTEBETTSTID UGG Wwrarmeiseamer eilL euanflselilue
g &@LD LoTamTeT&eT Bifla o Wb 2 el waliger erar Beii wpigCeuBEsamor?
wasme wrarersaflar S ellwss e wrb 248 SBIGOBISE 6Tal oT(HS5is
Q& meTaTayLb.

If 60 M.A. Economics students are found to have a mean height of 63.60 inches and
50 M.Com students a mean height of 69.51 inches. Would you conclude that the
commerce students are taller than Economics students ? Assume the standard deviation
of height of post graduate students to be 2.48 inches.

ECp GQar@ssuulL Sl Leamer srtoupbg Curiguid doLss
Qeupdluyareflsailan Lreuamans sr_HE D).

i e sl R R
crenrantl&Eens

—
Cumii et 95 |158|108] 63 | 40| 9 | 5 | 2
GTERTERTI SN S

QeaeclaursfnE @ urisrar uramall (urmsd wiga Qeben e
Cergenar Gawliwialb.

The following table shows the distribution of goals in a football match.

No. of goals 0 1 2 3 4
No. of matches | 95 | 158 | 108 | 63 | 40 | 9 5 2

192
o
~J

Fit a Poisson distribution and test the goodness of fit.

il
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pery  Celgopsar A, B wpmib C dweapda  Qesalu§Hsdr

Foreroraremelwr erar Carganen CaiwutiuGEng. seupdler Geuafui®Haeen
seam_Hbs wHiILsET G o dreTe.

10 12 13 11 10 14 15 13
B 9 11 10 12 13 - = -
11 10 15 14 12 13 - -

wrmure (b u@aurrul:l@nm BLSS (1PGaUFE®ETS FofD)s.

Three processes A, B and C are tested to see whether their outputs are equivalent. The

following observations of outputs are made :

10 12 13 11 10 14 15 13
B 9 11 10 12 13 - % -
11 10 15 14 12 13 = -

Carry out the analysis of variance and state your conclusion.

Wemeupd efleuriusEnde Befm eurds wannuied Curss Cor CerlenL

BN GEEES

QUHLLD 1983 | 1984 | 1985 | 1986 | 1987 | 1988
Py

g 3 3 7 9 il 14
(v_srigafile)

1991 - b eu elpuemer LEHUSH ErerTs.

Fit a straight line trend by the method of least squares for the following data.

Year

1983 | 1984

1985

1986

1987 | 1988

Sales (Rs. in lakhs)

8

7

9

11

14

Also estimate the sales for the year 1991.

[ Spliys / Turn over
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@@ bTg @sh LRELLTart s Qsn Camessrar SpssamrL HsDISMme #
281680 Celdlempri.

Coenauwirar Lors o B e
@swsafien cramamfléEms
Bspssal 0.4|03(0.2]01

20 Qsar el @m. 6 &@ ksl somar @m.8 &@ D, asamer
1oTE @snsmer e Callsmaler ameEE SFsuls adiurmssiu@n
@rub HeLsEh ? Cugb el elpumanursrs @S0 geibleurerenu|w
5.5 &@& eSnSlenmmi.

A magazine distributor assigns probabilities to the demand for a magazine as follows :

Copies demanded : 2 3 4 5
Probability : 041 03 |02 | 0d

A copy of magazine which he sells at Rs. 8 costs Rs. 6. How many should he stock to
get the maximum possible expected profit if the distributor can return back unsold
copies for Rs. 5 each ?
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